LEO
S? ¥ ~ 7 ~I. S
Rt §§ S §[88
NP
5 |§E
S =
S 3 5 8
ST P
S :
S
N

9}

HOLSIHNI
AZOMVNOXM ONVIHOONE LY3r0d

> 8= 2 E ]|’ >
o | =, O = = n) |
S| |le|lwe L) a o o S
R e T o | = Q. =
Sl PR E= PN = = e N =
- . D
_. =121 || a = —
S|g 1522 |3 [T = =
SN2 | =212 |k >~ = =
SRR A NI, O w =.
= | = |3 | > N .
[@p - ~ (@) —\ * 3
=) =% > g N — =
S | = 3 | s =
e | = = | 8 -
1B = S
— 0\
= O N | =
~ =3 H0=2,00 = studzienka przepadowa X=89252,02
berp f1000bed W 24550 | 247,50 \ S/ g0, glosi=1.20 m Ks—2.1, DN160, Rz.dna=244,23 Y=31234,19
11,13 A5 WwA32, gl.osi=1,60 m
I c\’.‘g g
=
U3 || [ 24569 | 24780 | Ho=2,11 /"2 E X=89246,16
— A Y=31210,54
] — ?
;2 - lU
36,39 oo |12 gA100, gl.osi=1,20 m
(@] .
O wA32, gl.osi=1,60 m
892 b oo 25,94 | 24800 | Ho=2,06 ("2 A\ K=89242,72
I w Y=31186,23
— R> \ — .
|~
g DN150, L=4,80 m, i=15,0%0, rz.dna=245,95
B357 | o 246,09 | 248,00 | Ho=191 /"2 |n X=89740,66
a Y=31171,72
10,72 W ~
B wA32, gi.osi:1,60 m DN150, L=5,10 m, i=15,0%0, rz.dna=246,09
< gAd0, gl.osi=1,20 m
697 | e 24632 | 248,80 | Ho=2.28 /"2 "\ o X=89235,24
w Y=31148,96
-+~ ’
~ 3 gA50, glosi=1,20 m
N _ ©o
- o WAS2, gl.0si=1,60 m \ DN150, L=3,50 m, i=15,0%0, rz.dna=246,58
) , L=, , 1I=19,) ) . = R
1283 || S 246,58 | 48,80 | Ho=2,22 (2 |8 2 ¥-89225,26
18,24 | 24663 (24880 [Ho=217 2 NS L\ ¥=51125,10
#425PE — o X=89220,42
LN~ @ Y=31127,51
=l
[
3317 @ 246,71 | 248,80 | Ho=2,09 [/ L o X=89211,29
S \ I_I
N o DN150, L=4,10 m, i=15,0%0, rz.dna=246,71 5
)} 0 2
O & \ >
U DN150, L=3,30 m, i=15,0%0, rz.dna=246,86 E
61,72 < 24685 |24880 | Ho=1.95 /"2 "\ E Il > X=89195,93=
#BPE| O — @ | \'\ Y=31091,64|8"
[N Lo
~ - Q
1442 | jyoepr —| 124691 24890 | Ho=199 [ 2 LI~ g0, glosi=1.20 m 1R X=89187,45|S
[@a] _ —
80,32 oo |24694 124900 | Ho=206 (2 \\ & ) | Il y=31082,18 9
#425PE = \ < ) WATTO, glos=T,60m AN é 219835’22 S
T T = R
1:: A N DN1'5_0, L=5,50 m, i=15,0%0, rz.dna=247,01
93,09 | 449 124001 1249.00 | Ho=1.99 —~| S A, X=89186,98
J0,98 < A1V 12490 [ Hp=198 [ X / = : 4 Y=31065,35
21 9425PE = @J W10, qlosi=1,60 m \ [[oN150, L=11}40 m, i=15,0%, rz.dna=247,0\ X=89186,67
o § o0, gfos=T,20 m NI Y=31062,03
— %) ' =
10,66 H000bd. 247,10 [249,00 | Ho=1,90 [/ 2 \ é_g?ézsgaég
N — - )
IR 1
wA32, gi.osi=1,60 m / \ ‘ DN150, L=4,10 m, i=15,0%0, rz.dna=247,10
&
& it
36,70 wA32, gf.0si=1,60 m Uy
gAS0, gt.osi=1,20 m | \l
DN150, L=5,50 m, i=15,0%0, rz.dna=247,29
1872 2479 |249.20 | Ho=191 /2" e L R 50150.19
#425PE @ l _ Y=31017,49
No
2 it S
DN150, L=3,70 m, i=15,0%0, rz.dna=247,29
087 | e 24740 24920 | Ho=1.80 /2 1| X=89148,79
@ ‘ ' ‘ — Y=30998,16
. \ DN150, L=5,00 m, i=15,0%0, rz.dna=247,40
S
- ~
s F 1|l
LER, lotood.  |3X 24755 | 24920 | Ho=1,65 /2" Il X=89134,09
< > Y=30071,54
\&
|y oo |lo| o | o U -
2 3|3 |3 |8 |8 - B
>lal—=|—|la |8 |3 a— )
O - (@] = ) ~ |
3 8' [ w g: (@) (@] Q 8
CREREN _. =l S
: w o o (@) %— ) r = .
_. =12l || a = Q ®
(@] E— - o = ) %- . — = %
~la|z|g|8|3. |g o O =}
— | = |3 | & = - .
S = |= = | 2 |l O M @
S, S | S |z | > - =
a | = = § N o N —
TR = |01 -
=E} O <
U~
— 0\
@ O
@
A~ =Y Ho=2,00 @ studzienka_przepadowa Ks—2.1, DN160, Rz.dna=244,80 X=89352,92
S 100068 I 245,80 | 247,80 8/ T Y=31183,97
© wA90, gt.osi=1,60 m \ \ 2
E e 1t, gl.osi=0,80 m 5
oh [~ gA50, gt.osi=1,20 m \\ \\ g)_
O \ =
(@]
321 2 24596 | 247,70 | Ho=1.74 ("2 "\ A X-89366,01 e
e | | @ Y=31213,40|S
ST o] I BT DN150, L=3,00 m, i=15,0%0, rzdna=24597  |&-
S |\ =2 3
N e —, DN150, L=7,20 m, i=15,0%0, rz.dna=246,05 a
1034 loazse| |3 24605 | 247,70 | Ho=165 /"2 "\ =s M e 973,00
~ Y=31229,04
$ A HE
EE] ) 4 ETTILIIL () IS
] ¢ o § 'UVI pra—t g § B g § —a' B -r_‘ng".g
JNBRER Z s s ¥3 Szziag 3 -3
Sr=F S I w 58 =szz8ogzE a4 A,
§QQ§NI\> L oS H 2 F 29 " ~335 3 c o 3
SRR & & § 59 fo2z3?®® ¢ 84
SHAR NS - . 3sd2838 7 e
aBRNERERE . § 5327757 8 &g
EINNERESS . . : 3%z 83z3 § =g
S| BN E § § §2 8% 2007 % %
el |® § i3 ©3: ¢ 35
: 2 332 s




